JUNY

y=x+2x+1
y=2x%-3x+2
y=-2x*+3

R0 ;) (1, 4) 0B

x—12+40°]1, 4 (0, 3) & A=
0-1)°+4 . a=-1

Cy=—-(x-1)2+4

=—x>+2x+3




of
_ZT|

o
N
=
£
)
=4
w5
ol
ol
<X
Hr
or

S
l_l
nul/
Q.
|
%0
T o
]
~ =
A ol
ol um
TS
5 o




- _ _ 1
APIHA 2~ +1 =0 FIL AT+ 5 o U

-x+1=09 3 Fo]polB=z

B-B+1=0
1
—1+==0
B +ﬂ
B+==1




oA

B

el
rJ
oA
No
rJ
1

A 3x% - (2k+3)x—3

e
)

H}A

17

@ 16 ® 9 @)4 ®1

® 25

3a% - (2k+3)a—-3 =0

=0

3
a

FH=a 2 UFH, 3a - (2k+3) -

k=3

2k+3,3k=2k+3 ..




@ 8

& o, o

3)9

x=-5E=x=9




O|ZAFT A Al ax? + (5—4b)x—6 =
of #2?

@ 15 @ -8 @1

0]

@ 8

® 15

a+5-4b-6=0
Ta—-4b=1

OIAIAA ax’ + (5 - 4b)x— 6 =

0ol x=1

flo




o] ztHF A Al 16x2 — 24x + a
¥ —ax+20=0< Eo=} (

=
[=

=
| —

v VvV v V¥
0
i
=
I
i

0
o
=
I
(@31

o,

0°] &
a>0)

~&B

16x2 —24x+a =0

(52) -2
16x2/ ~ 16

a 9

16 16

T a=9

2 -9x+20=0

( )(x 5)=0
=4FE=x=5




8. OlAWAA 32 tax+12=00°] S5 =22 /M o], 4 9] IS

5t

®-12 ©@-9 B4 @9 O

B

32 +ax+12=0
x2+§x+420,(x+2)220

a
-—=4 . a=12
3 a




OJ AP Al x2 4 4x - 1

n<a<n4+1LUEst= Ao o gHE Fotolel

> E.

> Hehl o

~&B

PHax-1=0d FZLx=-2+5
aeFFolBR2a=-2+ 5
0<-2+V5<1

n=0




10.

O A A 222 — 9x — ax + 3a+ 8 = 0 ©] HZ0] & 744w, 4

a o RO L FoHE?

Fo7 A5 g o Wote] HfotH —a(x—3) +2x> - 9x+8 =10
ojtt,

_2x2—9x+8
B x—3
_ (=29 (x-3)-
= o
. x—3

at AF0|EE x -3 =+1 0|t}
x=2FEx=40]282
(1)x=2¢ M, a=2

(i) x=4 L o, a =4 oJT}.

w2bA] 4 a ] gE9 2 2+ 4 =6°Ith




11.

AH O 2 HE 45m wo|9] A& Sl 25 30m B Zof &Y
S2A49] x 2 59| 0| (45 + 40x — 5x%)m o]t} o] EA|7} thA]
2ol Wojz]= 718 2ot &8 2] W x F9lx] FL5hodat,

1o

> =

> ®e: 9

[

[

~&B

A Hol| GolZ B2 =ol= Om ©|Th
45+ 40x —5x2 =0 o] B &

2 -8x-9=0

x+1)(x-9) =0
wabA x = 9o|th,




12.

A A 20m 9] EolofA 24 50m 2 FHFR 2ot27 EA4 9] x
% %9 2ol (=5x2 + 50x 4 20)m 7} Dok et B4 9] &ol7}
AHof A 145m 7t == d] A= A7 ok A E419) =ol7t
A1 Aol A 145m 7} =& b A= A2

@ -5x% +50x+20=125,5 %
@ -5x% +50x+20=125, 10 =
@—5x2+50x+20:145,5§
@ -5x% +50x+20= 145,10 =

® 5x2-50x—-20=145,5 %

S5 ~
—5x2 4+ 50x + 20 = 145

5x2 —50x+ 125 =0

5(x —=10x+25) =5(x-5)2=0

L x=25




13. 7\1/&]-71-—6‘& ABCDoﬂfﬂ ;G P AB _?q_e_ 3l Aoﬂk] x% B7]].;q id\_
lemZ 230|314 Q= BC Y& A BolA H C7HA] 2% 2cm =
=40 A Pﬂ‘r Q7F sAloll Erste] aPBQ 9] WolZt 6em? 7t

e A2 Aot & A7

. --10cm- _ _
A - ~

P\ ?cm
B /

D12 T E=22 % @2z 3 EE32 3
® 32T EL42 T @ 42T EE52 T
®s5xETEEx S

~&B

x %2 30| AP, BQ ¢ Zo]= AP = x, BQ = 2x 7} It}

.'.APBQ:%XQXX(E)—)C):G
=>x(5-x)=6
=>x2-5x+6=0

= (x-2)(x-3)=0

S>x=2E=x=3




14. /@ 34230 7129 ol dem 27 541, A2 Aol 20m
7 ool HA2HS BEIEY 1 Wit d0em? 7t H9iek. A
AAZF ] Yol

@ 25cm? @ 30cm? @36 cm?

@ 40 cm? ® 49 cm?

B \
AAZIR ) T N Bl 2 xem P S, (x4 4)(x—2) = 40
ojlmg

x% +2x -8 =40

x?+2x-48 =0

(x=6)(x+8) =0

x=6("x>0)

meba] A2 AR 9] Hlol= 6 x 6 = 36(cm?) O[Tt




15.

1
y=--(x-1-p)2+10+¢
:—g(x+4)2—2

-1-p=4,p=-5
104+g=-2,g=-12
.. pq =60




O|FFE y = 2% O] A LE x 9
FFor 2 whE PPl Fe 2z
LR ol et

» =3

FFog -1 BF, y £

Sy=ax®>+bx+cBE

y=2(x+1)24+2=2x>+4x+4




17.

oA y = 2 +2x -3 ¢ AT} x F7}
Bhbe o) AEE 242hA | B o ok A%

o] ZHE C 2t 514 o] mf AABC 9] HolE

Fatolat,

~&B

=L
-}

TN—

¥ +2x-3=0
(x+3)(x=1)=0
x=-3E=x=1
- A(=3, 0), B(1, 0)
i) y=x*+2x-3

=(x+1)2-4
S C(-1, —4)

1ii) AABC:4><4><%:8

1) xET0 78 A, B HEE=y=0¢ 1 x9 grolth.




18. y= —%xQ —2x 9 a7} AR = Loy

@A 1488 @ A24Rd @ A3 4R
@ A4RE O 9




